A <

EH
F5| &AW MR = HERAN| HE | Fidhe | &RE
1 AR Q235 (—4) kg 1540. 2 it - =W
2 AR 0235 (=5) kg 15532. 78| 4@l =
3 AR Q235 (-10) kg 13013.36| 4@k =
4 AR Q235 (-26) kg 2398 it % N
5 R Q235 (-45) kg 1314 i EN
6 AR Q235 (-55) kg 1606 it =W
7 EXAR Q235 (-60) kg 6217 Gintid =
8 AR Q345 (-10) kg 3023. 58 Ginti) =
9 R Q345 (-28) kg 5236 i =
10 | AWk Q345 (-35) kg 1912 Giobis % N
11 R Q345 (-46) kg 4261 i EN
12 | 4R 0345 (-48) kg 5508. 47 it =
13 | 4R Q345 (-50) kg 22035 Ginti) =
14 R Q345 (-52) kg 60485 i % N
15 R Q345 (-54) kg 6020 i =
16 R Q345 (=55) kg 11488 i % N
17 | R Q345C (-28) kg 2517 it =
18 | iR Q345C (-50) kg 3069 it =
19 R Q345C (=52) kg 11877 i %ﬂq
20 R Q345C (=60) kg 3738 i EN
21 R Q420 (-8) kg 447. 61 s =
22 | AR Q420 (-10) kg 867. 88 it =
23 | 4R Q420 (-14) kg 2194. 08 Gintid =
24 R Q420 (=27) kg 3230 i =
25 R Q420 (-28) kg 1055 i % N
26 R Q420 (-34) kg 3771. 66 i EN
27 | iR Q420 (-35) kg 9039 Ginti) =
28 | #AIR Q420 (-44) kg 6317. 27 it =
29 R Q420 (-48) kg 8885 i % N
30 | HNAR Q235 (—4) kg 1373. 1 it =W
31 4N 0235 (£ 40%3) *7000 kg 32494 taiE =W
32 | fA4N 0235 (£ 40%3) *8000 kg 35977.86| A@iE =
33 | fA4N 0235 (£ 40%4) *7000 kg 30364. 61|  4&EiE =
34 4N 0235 (£ 40%4) *8000 kg 23389. 14| 18IE =
35 4N Q235 (£ 45%4) *7000 kg 41942.88| #&EiE % N
36 | fA4N 0235 (£ 45%4) *8000 kg 29067. 26| 4 =N
37 140 0235 (£ 50%4) *7000 kg 49057. 18| #&iE S
38 FHEN 0235 ( £50%4) *8000 kg 48185.37| A&k ;;
39 N Q235 ( ./ 56%4) *8000 kg 36114. 08| 4&ik % N
40 | fA4N Q235 ( /56%4) %*9000 kg 31.01 it s
41 N 0235 (£ 56%4) 10000 kg 30531.56 |  fEif %V\]
42 | a4 0235 ( £ 56%5) *8000 kg 2074. 49 b =
43 | fA4N Q235 ( £56%5) *10000 kg 4378. 53 it =t
%1, 9o




44 | X Q345 (/56%5) *7000 7469. 01 =
45 4R Q345 (/56%5) *9000 2372. 06 =N
46 | fHN Q345 (£ 56%5) 10000 1700. 4 =
47 | N Q345 (. 63%5) *7000 67. 48 =
48 4R Q345 (/63%5) *10000 5352. 42 =N
49 AR Q345 (£ 70%5) *7000 6724. 66 =N
50 | fAH Q345 (.~ 70%5) *8000 8203. 44 =
51 FHEN Q345 (£ 70%5) *11000 4215. 06 =
52 | fA4N Q345 (£ 70%5) 12000 1165. 75 =
53 | AW 0345 (£ 70%6) *7000 6322. 72 =
54 AR Q345 (/70%6) *8000 5637. 28 =N
55 AR Q345 (£ 70%6) *9000 13894. 61 =N
56 | A Q345 (£ 70%6) 10000 4163. 9 =
57 | AW Q345 (£ 70%6) 11000 8596. 85 =
58 4R Q345 (£ 70%6) *12000 11453. 93 =N
59 £ 40 Q345 (£ 75%5) *7000 1466. 14 =N
60 AR Q345 (/75%5) %9000 994. 88 =N
61 FHEN Q345 (£ 75%5) 10000 2501. 74 =
62 |  fAN Q345 (£ 75%5) 11000 3071.9 =
63 | fAN Q345 (.~ 75%5) 12000 6702. 34 =
64 AR Q345 (£ 75%6) *7000 13533. 8 =N
65 4R Q345 (£ 75%6) *8000 1657. 2 =N
66 | fHEN Q345 (£ 75%6) 10000 4073. 95 =
67 | fHN Q345 (£ 75%6) 11000 7139. 77 =
68 4N Q345 (£ 75%6) *12000 9114. 6 =N
69 | X Q345 (. 80%6) *7000 2168. 54 =
70 4R Q345 (/80%6) *8000 2773. 38 =N
71 FHEN Q345 (. 80%6) *9000 7899. 7 =
72 | AN Q345 (£ 80%6) 10000 1548. 96 =
73 4R Q345 (/80%6) *11000 4705. 89 =N
74 AR Q345 (/80%6) *12000 3983. 04 =N
75 | A Q345 (. 80%7) *8000 2796. 2 =
76 | MW Q345 (£80%7) 10000 170. 5 =
77 | AW Q345 (£80%7) 11000 6282. 93 =
78 | W Q345 ( /80%7) ¥12000 8593. 2 =
79 AR Q345 (£90%6) *7000 5143. 6 =N
80 AR Q345 (£90%6) *8000 2471.6 =N
81 FHEN Q345 (£90%6) 10000 1920. 5 =
82 | fA4N Q345 (£90%6) 11000 6613. 2 =
83 4R Q345 (£90%6) *12000 4208. 4 =N
84 4R Q345 (£90%7) *7000 1824. 98 =N
85 AR Q345 (~£90%7) *8000 7261. 31 =N
86 | fH4N Q345 (£90%7) *10000 7531. 68 =
87 | faN Q345 (£90%7) 11000 6904. 04 =
88 | fAtN Q345 (£90%7) 12000 5793. 6 =
89 AR Q345 (~£90%8) *7000 2068. 79 =N
90 4R Q345 (~£90%8) *8000 8931. 94 =N




91 | X Q345 (£ 90%8) ¥10000 6239. 22 =
92 4R Q345 (~£90%8) *11000 5297. 86 =N
93 FHEN Q345 (£90%8) *12000 4860. 02 =
94 | fAN Q345 (. 100%7) %7000 454. 86 =
95 4R Q345 (£100%7) *8000 12909. 36 =N
96 AR Q345 (£100%7) *9000 8967. 24 =N
97 | X Q345 (£ 100%7) 10000 6498 =
98 | N Q345 ( £100%7) *11000 7028. 67 =
99 | N Q345 ( £100%7) *12000 3508. 92 =
100 | fA%H Q345 (.~ 100%8) 7000 15725. 56 =
101 | 4N Q345 (~100%8) *8000 4910. 4 =W
102 | fH4N Q345 (~100%8) *11000 7021. 87 =N
103 | AW Q345 ( £100%8) *12000 3093. 55 =
104 | AW Q345 (£ 100%10) *7000 7302. 96 =
105 | 4N Q345 (~100%10) %8000 8709. 12 =N
106 | 4N Q345 (~100%10) *11000 498. 96 =W
107 | fH4N Q345 (~110%7) *7000 9602. 04 =W
108 | W Q345 (£ 110%7) %8000 6488. 83 =
109 | AW Q345 (£ 110%7) %9000 14814. 58 =
110 | Q345 (. 110%7) *10000 14671. 44 =
111 | f4N Q345 (~110%7)*11000 10890. 26 =N
112 | f4N Q345 (/110%7) *12000 16890. 05 =N
113 | AW Q345 (£110%8) %7000 7199. 02 =
114 | A Q345 (£ 110%8) %8000 4005. 47 =
115 | W Q345 (£ 110%8) %9000 5845. 82 =N
116 | M Q345 ( ~110%8) 10000 4736. 2 =
117 | fH4N Q345 (~110%8) *11000 4167. 86 =N
118 | W Q345 (£ 110%8) *12000 3410. 06 =
119 | AW Q345 (£ 110%10) *7000 1168. 3 =
120 | fH4N Q345 (~110%10) *8000 1201. 68 =N
121 | f4N Q345 (~110%10) %9000 11866. 59 =W
122 | 8 Q345 (£ 110%10) *10000 2670. 4 =
123 | W Q345 (.~ 110%10) *11000 4038. 98 =
124 | AW Q345 (£ 125%8) %7000 5969. 04 =
125 | A8 Q345 ( ~125%8) 11000 1023. 26 =
126 | fH4N Q345 (/125%8) *12000 372. 1 =N
127 | fH4N Q345 (~140%12) %7000 3037. 12 =W
128 | AW Q345 (/£ 140%12) *8000 2041. 76 =
129 | AW Q345 (/£ 140%12) *9000 4364. 26 =
130 | fH4N Q345 (~140%12) %10000 1276. 1 =N
131 | 4N Q345 (~140%12) *12000 1225. 06 =W
132 | 4N Q420 (~125%10) %7000 2812. 55 =N
133 | AW Q420 (.~ 125%10) *8000 10408. 35 =
134 | AW Q420 (.~ 125%10) %10000 7461. 87 =
135 | ff Q420 (.~ 125%10) *11000 18310. 28 =
136 | 4N Q420 (£ 125%10) 12000 13086. 97 =N
137 | f4N Q420 ( ~125%12) %8000 9804. 67 =W




138 | M Q420 (/125%12) %9000 8170. 56 =
139 | fH4N Q420 (£ 125%12) %10000 11801. 92 =N
140 | AW Q420 ( ~ 125%12) %12000 544. 7 =
141 | AW Q420 (/£ 140%10) *7000 4963. 73 =
142 | fH4N Q420 (~140%10) *8000 6876. 16 =N
143 | fH4N Q420 (£ 140%10) %9000 7542. 29 =N
144 | A8 Q420 (£ 140%10) %10000 14826. 72 =
145 | W Q420 (.~ 140%10) *11000 7091. 04 =
146 | W Q420 (.~ 140%10) *12000 3609. 98 =
147 | 8 Q420 (~140%12) *7000 3215. 77 =
148 | fH4N Q420 (/£ 140%12) %10000 4593. 96 =N
149 | 4N Q420 (£ 140%12) %12000 4287. 7 =N
150 | AW Q420 (/£ 160%12) *8000 470. 26 =
151 | fH Q420 ( ~160%12) %9000 2645. 19 =
152 | 4N Q420 (£160%12) %10000 3820. 83 =N
153 | 4N Q420 (~160%12) *11000 4849. 52 =W
154 | 4N Q420 (/£ 160%12) %12000 5643. 07 =N
155 | AW Q420 (.~ 160%14) %10000 2379. 09 =
156 | AW Q420 (.~ 160%14) *11000 5234 =
157 | Q420 ( ~180%12) *7000 16712. 14 =
158 | 4N Q420 (~180%12) #8000 10610. 88 =N
159 |  fH4N Q420 (~180%12) %9000 15219. 98 =W
160 | AW Q420 (.~ 180%12) %10000 15253. 14 =
161 | fAW Q420 (.~ 180%12) *11000 13130. 96 =
162 | fH4N Q420 (/£ 180%12) 12000 12733. 06 =N
163 | M Q420 (.~ 180%14) *7000 4298. 9 =
164 | fH4N Q420 (~180%14) #8000 9518. 98 =N
165 | AW Q420 (.~ 180%14) *9000 7254. 39 =
166 | MW Q420 (.~ 180%14) *12000 4145. 36 =
167 | fH4N Q420 ( ~180%16) *7000 914. 38 =N
168 | 4N Q420 ( ~180%16) *8000 6270. 05 =W
169 | M Q420 (.~ 180%16) %9000 4310. 66 =
170 | W Q420 (.~ 180%18) *7000 340. 44 =
171 | AW Q420 (.~ 180%18) *8000 1945. 36 =
172 | 8 Q420 (.~ 180%18) %9000 4377. 06 =
173 | fH4N Q420 (~180%18) 10000 4377. 06 =N
174 | A4 35# (b 28) 9109. 4 4%
175 | [FI4N 35 (d 36) 76. 8 =
176 | A 35# ($ 48) 3156 =
177 | AN 45# ($ 48) 2840. 15 4%
178 | A4 45# ($ 65) 11281. 65 E4%)
179 | [ 458 ($ 72) 50. 73 4%
180 | [FI4N Q345 (d 28) 8699. 87 =
181 | fHX 0235 (£ 63%6) *6000 1544. 67 =
182 | 0235 (.~90%8) 10000 2298. 66 =
183 | 4N 0235 (£ 75%6) *7000 1015. 04 =N
184 | 4N Q235 (£ 75%6) *8000 441. 92 =W




185 | fA%H Q235 (£ 75%6) ¥10000 483. 35 =
186 | fH4N 0235 (£ 75%6) *11000 303. 82 =N
187 | AW 0235 (£ 75%6) 12000 580. 02 =
188 | MW 0235 (£90%6) *7000 58. 45 =
189 | 4N Q235 (£90%6) 11000 551. 1 =N
190 | 4N Q235 (£90%6) 12000 300. 6 =N
191 | fAH 0235 (£90%7) *7000 5677. 73 =
192 | fH# 0235 (£90%7) %9000 4519. 01 =
193 | AW 0235 (£90%7) *10000 7338. 56 =
194 | 8 Q235 (.~ 100%7) 7000 8414. 91 =
195 | 4N 0235 (£ 100%7) *8000 1732. 8 =W
196 | fH4N Q235 (~100%7) *11000 4765. 2 =N
197 | AW 0235 ( £100%7) *12000 23132. 88 =
198 | AW 0235 (. 100%8) *7000 5585. 58 =
199 | 4N 0235 (~100%10) 10000 1360. 8 =N
200 | fA4N Q235 (£ 110%7) %7000 5343. 74 =N
201 [ AW 0235 (/110%7) %8000 190. 85 =W
202 | A4 0235 ( £110%7) *10000 357. 84 =
203 | fAIN 0235 (£ 110%7) *12000 572. 54 =
204 | AN 0235 (~110%8) %7000 5209. 82 =
205 | N 0235 (£ 110%8) *8000 21759. 46 =N
206 [ MW 0235 (~110%8) *9000 730. 73 =W
207 | fAiN 0235 (£ 110%8) *10000 10554. 96 =
208 | fAiN 0235 (£ 110%8) *12000 974. 3 =
209 | fA4N Q235 (£ 125%8) 7000 1302. 34 =N
210 | fA4X 0235 (.~ 125%8) %8000 414. 92 =
211 [ AW Q235 (/125%8) *10000 27752. 16 =N
212 | 4N 0235 (£ 125%8) *12000 186. 05 =
213 | fAiN Q235 (/£ 125%10) *7000 5076. 81 =
214 [ AW 0235 (~125%10) *9000 5595. 58 =N
215 [ AW 0235 (/125%10) 10000 4577. 52 =N
216 | fA 0235 (.~ 140%10) *7000 150. 42 =
217 | AN 0235 (.~ 140%10) *9000 773.57 =
218 | fAiN Q235 (.~ 140%10) *10000 8380. 32 =
219 | A Q235 (£ 140%10) *12000 1804. 99 =
220 | AW 0235 (~160%10) 10000 2967. 48 =N
221 | AW Q235 (~160%12) %8000 940. 51 =W
222 | 4N Q235 (/£ 160%14) *9000 4588. 25 =
223 | AN Q235 (.~ 180%14) %10000 5373. 62 =
224 | MW 0235 (~180%14) 11000 5066. 56 =N
225 | MW Q345 (~125%12) *11000 249. 66 =W
226 | MW Q345 (.~ 160%16) *7000 539. 25 =N
227 | fAiN Q345 (/£ 160%16) *8000 8011. 74 =
228 | fAiN Q345 (.~ 160%16) *11000 13134. 64 =
229 | A Q345 (~ 160%16) *12000 462. 22 =
230 [ AW Q345 (~180%14) *9000 1727. 24 EH
231 [ AW Q345 (~180%14) *11000 4243. 45 =W




232 | A Q345 (.~ 180%16) *7000 18897. 23 =
233 | AW Q345 (~180%16) 10000 16545. 96 =N
234 | 4N Q345 (.~ 180%16) *11000 13889. 9 =
235 | fAiN Q345 (.~ 180%16) *12000 2090. 02 =
236 | MW Q345 (~200%14) %9000 5404. 64 =N
237 | AW Q345 (£200%14) *10000 10723.5 =N
238 | fH Q345 (£ 200%14) *11000 2359. 17 =
239 | AN Q345 (£200%16) *7000 6133. 68 =
240 | fA4N Q345 (£ 200%16) *8000 8178. 24 =
241 | fA Q345 (£200%16) *9000 23220. 36 =
242 | MW Q345 (~200%16) 10000 22879. 6 =N
243 | MW Q345 (£ 200%18) %7000 1904. 04 =N
244 | 4N Q345 (£200%18) *8000 3481. 66 =
245 | AN Q345 (£200%18) *9000 16157. 1 =
246 | MW Q345 (~200%18) 10000 7616. 14 =N
247 | AW Q345 (~200%18) 11000 8976. 17 =W
248 | MW Q345 (~200%18) *15500 8432. 16 =N
249 | AN Q345 (£ 200%24) *7000 18930. 69 =
250 | fAiN Q345 (£ 200%24) *8000 16510. 98 =
251 | A Q345 (/200%24) %9000 7045. 63 =
252 | MW Q345 (£200%24) %10000 12098. 56 =N
253 | AW Q345 (£200%24) %11000 22702. 59 =N
254 | 4N Q345 (.~ 200%24) *12000 15372. 29 =
255 | 4N | Q345C(/125%12)%10000 680. 88 =
256 | AN | Q345C(.£180%14)%10000 1535. 32 =W
257 | fHAN Q345C (.~ 200%16) %9000 876. 24 =
258 | AN | Q345C(.£200%20)%11000 3963. 7 =N
259 | AN Q345C (.~ 200%24) %7000 2490. 88 =
260 | AN Q345C (.~ 200%24) %8000 1138. 69 =
261 [ AW Q345C (£ 200%24) %9000 640. 51 =N
262 | AE | Q345C(.£200%24)%10000 5693. 44 =N
263 | A | Q345C(~200%24) %12000 4270. 08 =
264 | 4N Q345C (.~ 220%24) %7000 4418. 51 =
265 | fAiN Q3450 (.~ 220%24) %9000 12782. 12 =
266 | fH4X Q345C ( ~ 220%24) %9500 16490. 52 =
267 | A | Q345C(£220%24)%10000 18147. 46 =N
268 | AEN | Q345C(£220%24)%11500 4536. 87 =N
269 | 4N | Q345C(220%24) 12000 17042. 83 =
270 | fAiN Q420 (£ 200%16) *7000 1363. 04 =
271 | AW Q420 (~200%16) %9000 8324. 28 =W
272 | AW Q420 (~200%16) *10000 3894. 4 =W
273 | AW Q420 (£ 220%22) %12000 2619. 04 =N
274 | AR Q345 (=72) 1292 =
275 | ARk Q345 (-74) 6518 =
276 | #MIR Q345 (=75) 7274 =
277 | #AIR Q345 (-90) 8463 =W
278 | AR Q420 (-60) 11373 =W




279 | AR Q420 (-65) ke 4577 e =
280 | HiR Q420(-78) kg 2479 = =
281 HEN 5 Am{H =W
H Q235 ([5) 6000 kg 29839 v p
289 N 93 . R BV
E Q235 ([12) 6000 kg 2315. 13 T —
283 | % : A £V
B Q235 ([J80*60%5) kg 1530.21 | 4% =
o84 | : A =4
E Q235 (C1100%100%8) kg 2634. 59 v >
285 S . Am{H BV
286 | IR Q345 (-56) ke 20011 T et S
287 | #tR Q345 (-58) kg s T et it
288 | HAtR Q345 (-60) ke 25635 | =
;gg zﬁiﬁ Q345 (-62) kg 21762 %EFZE %%
i Q345 (64 o=, ‘
2ol T = ) kg 15273 XEE 24N
(345 (~65) kg 55781 i =40
292 | 4R 2345 (-66) kg 26879 e ey
203 | HAtR Q345 (-100) o 1283042 5 -
294 | AR Q420 (-52) k 14758. o -
295 | R Q420 (-54) kg 228' R @i E%
296 | #IkT Q420 (-56) = LT
297 | HHR - & 7531 i EU
Q420 (-62) kg 5515.82 | 4@k =41
298 |t Q235 (£63%5) %7000 ke | 6987.08 | Ei% 241
299 | N Q235 (£63%5) *8000 kg 9412. 54 ;; i%
300 | fA4X Q235 ( £63%5) *10000 kg 1687. 7 ;; %%
301 | A 0235 (£63%5) *11000 kg 9918. 85 ;; 2%
302 | A Q235 (L 70%5) #7000 kg 3664. 57 ;yi 329
303 | SN Q235 (£ 70%5) %10000 kg 4209. 66 %i = ;
304 | £ Q235 (L 70%5) %12000 kg 77717 %i 2;
305 | S Q235 (L70%6) ¥7000 kg 12062. 5 g{i = 5t
306 | SN 0235 (L 70%6) *8000 kg [12350.77 @i i o1
307 | SN 0235 (L70%6) %9000 kg 8129. 21 ﬁi :%:%
308 | f1# | 235(/70%6)*10000 e 1396508 ek =i
309 | f941 | 0235 (70%6)*11000 w1 | w1 =i
310 | A% Q235 (L 70%6) *12000 kg 9147.77 g; 2%
311 | S Q235 (L75%5) ¥10000 kg 4188. 96 ﬁi Q%
312 | f40 | Q235(/80%6) #6000 o 1755 40 | i =
313 | /AN Q235 (/80%6) #8000 kg 1770. 24 g{i = %
314 | f14 | 0235(/80%6)¥9000 o Tizaso. 19] iEik 0
315 | A% Q235 (L80%7) ¥8000 kg 16845. 4 a%i %%
316 | Sl Q235 (£80%7) ¥9000 kg 3989.7 a‘ﬁ; iy
317 | A Q235 (£80%7) *10000 kg 5797 ;; ;;
318 | SN Q235 (£80%7) *11000 kg 1125. 3 e bl
319 i 023 . Am{H EViN
5 (_90%8) ¥7000 kg 6666. 11 s =40
320 | A Q235 (L£90%8) ¥8000 kg 6567. 6 @i = 5t
321 | it Q235 (L90%8) ¥9000 kg 13594. 93 F; iyr
322 | A 0235 (£90%8) *11000 kg 3491. 77 a%i :%:%
323 | K Q235 (L90%8) ¥12000 kg  |21147.67 i =
294 i 0235 . Am{H EVA
( 110%10)*7000 kg 5724. 67 E v ~
325 | fA 0235 (L£110%10) %9000 k ' ok -
g 9913.86 |  Haid B
BT, 39




326 | fAH 0235 (~110%10) *10000 o =
327 | ff8 | Q235(£110%10)*11000 Ei f;‘gﬁf 2 o =0
328 | SN Q345 (£ 160%10) %9000 kg 1335. 37 e o
329 | fHHX | Q345 (£160%10)*10000 kg 1978. 32 i i
330 | M | Q345(L180%12)*7000 kg 1160.57 i =5
331 | fAHM | Q345(L180%12)*8000 kg 9652, 79 r 2ot
332 | A | Q345(L180%12)%9000 ke | 1551841 o o
333 | AN | Q345 (L180%18) %7000 kg 9191, 83 T =t
334 | S Q345 (/180%18) *8000 kg 7392, 37 e :j:%
335 | fAEM | Q345(L180%18)*9000 kg 7878. 71 s =
336 | fAHM | Q345 (L180%18)*10000 kg 12158. 5 o =
337 | AN | Q345(180%18)*11000 kg 6419. 69 o =
338 | A4 | Q345(L180%18)*12000 kg 5334, 43 e i
339 | SN Q345 (£200%20) ¥7000 kg 2942, 74 i :E%
340 | fAHH | Q345(L£200%20)*8000 kg 1441, 34 s =5
341 | fAER | Q345(£200%20) %9000 ke [10269.58 o o
342 | fAHR | Q345 (£200%20)*10000 kg 1201, 12 r 2ot
343 | MM | Q345 (£200%20)*12000 ke |20178.8 W o
344 | FAEX | Q345C(L180%16)*12000 kg 5747, 54 e :E%
345 | fAHM | Q345C(L180%18)*9000 kg 1750. 82 s =
346 | X | Q345C(L180%18)*11000 kg 3024 61 o %%
347 | K Q420 (/100%8) *8000 kg 294, 62 ot %%
348 | AN | Q420 (L100%8)*10000 kg 859, 32 s =t
349 | AN | Q420(L100%10)*7000 kg 2328.48 W o
T i T o i T o Toa T o T o
351 | fA% Q420 (£110%8) 8000 ke [12341.18 i o
352 | fA4K | Q420 (L110%8)*12000 kg 1299. 07 s 2ot
353 | SN Q420 (£110%10) ¥9000 kg 9613, 44 s %%
354 | S Q420 (£125%8) *7000 kg 2604, 67 e :E%
355 | /AN Q420 (£ 125%8) #8000 kg 9054. 34 L =t
356 | S Q420 (£125%8) ¥9000 ke | 14790.8 i o
357 | fAEM | Q420(£125%8)*10000 ke | 18759, 84 s 2ot
358 | AN | Q420 (£125%8)*11000 kg 8697, 74 T =t
359 | A% Q420 (£125%8) *12000 kg 46512 e :E%
360 | fATH | Q420(L140%14)*11000 kg 1621. 95 s =
361 | A | Q420(L160%10)*7000 ke | 27177.17 i o
362 | AN Q420 ( £ 160%10) %8000 kg 24531' 17 E{i %%
363 | AN | Q420 (L160%10)*9000 ke | 36945, 13 e i
364 | A0 | Q420 (L160%10)*10000 ke | 2819106 T Lk
365 | AT | Q420(L160%10)*11000 ke | 19041, 33 s =5
366 | A | Q420(L160%10)*12000 ke | 10682.93 T i,
367 | A | Q420(L£200%14)*7000 kg 3407, 29 r 2ot
368 | fAHM | Q420(£200%14)*8000 kg 9265, 1 T =t
369 | FAHY | Q420(£200%14) %9000 ke | 2316276 T ot
370 | fAHM | Q420(£200%14)*10000 ke | 33457, 32 s =
g;; ?;zlﬂ Q420 (£200%14) ¥10500 kg 1801, 55 E}:E EZF

- :

M| Q420(£200%14)*11000 kg 9436.68 | HEi B




373 | fA Q420 ( £ 200%14) *12000 o =
374 | fAEA | Q420(L£200%18)*7000 Ei 182337573'7457 e St
375 | SN | Q420(£200%18) %8000 kg 2611, 25 T -
376 | 4K | Q420(£200%18)*11000 kg 7180. 93 e =t
377 | AR | Q420 (£200%18) *12000 ke | 14361.86 o i
378 | AN | Q420(.£220%20)*12000 kg 3991, 98 o %ﬂ
379 | fAHM | Q420(L£250%20)*8000 kg 9141.6 o =0
380 | SN | Q420 (£250%22)*7000 ke | 42586.74 i =
381 | A Q420 (£250%24) #4000 kg 1808, 66 r =
382 | M | Q420 (L£250%26)*9000 ke | 15788, 68 i o
383 | IR 35# (¢ 52) kg 8352, 53 e 2o
384 | [AIH 42CRMO (¢ 50) ke 5390 o 2ot
385 | [l 42CRVO (& 52) ke | 4489, 49 L4
386 [54] £N Q235 ($ 28) kg 1394. 25 E/i :j:ﬁl\
387 | BN 4345 ($ 30) R R TR =5
Y P 0 1 1

J | Q345 (¢ 52) ke | 29458.03] ik =4




